
Installation Instructions

Nissan Pathfinder (4WD)

Part Numbers:

75020
44152
87482

Equipment Required:

Wrenches: 13mm, 19mm, 3/4, 7/8

Drill Bits: 1/2”

Bumper 

bracket

1.  Remove bracket from each side of vehicle frame as shown in Figure 1.  Save brackets and fasteners for reinstallation if the receiver is removed 

from the vehicle.

2.   Remove exhaust system isolator and discard 8mm nuts.  Allow exhaust to drop.

3.  Lift receiver into position.  Install 1/2" hex bolt, lock washer and nut through side bracket and bumper bracket as shown in Detail “A". 

Note: Bolt heads must be to inside of frame.

4.  Install 1/2" hex bolt, spacer, lock washer and nut through bottom of frame as shown in Figure 1. 

5.  Using the hitch as a template, enlarge the forward hole visible through the bracket with a 1/2" drill bit.

6.  Insert wire nut spacer through opening in rear of vehicle frame and slide spacer over 1/2" hole drilled in step 5. 

Note: Keep nut spacer along outboard edge of frame and make sure spacer is flat on surface of frame c-section.

7.  While holding nut spacer in place, install M12 hex bolt and lock washer through side bracket and into nut block as shown in Figure 1.

8.  Assemble two (2) 5/16" flat washers and one (1) 5/16" lock washer to each end of exhaust isolator, as shown in Detail “B" and reinstall using 

8mm hex nuts provided.  If additional exhaust clearance is required, bend metal portion of isolator as indicated by arrows.

Rev. D11/26/07N75020Sheet 1 of 1z 1991, 2003, 2006 Cequent Towing Products

Bolt 1/2-13 X 1.25Qty. (2)����Bolt M12 X 1.25 X 35Qty. (2)5555

Flat Washer 5/16Qty. (4)9999Hex Nut 1/2-13Qty. (4)4444

Lock Washer 5/16Qty. (2)8888Lock Washer 1/2Qty. (6)3333

Wire Nut SpacerQty. (2)7777SpacerQty. (2)2222

Nut M8 X 1.25 Qty. (2)6666Bolt 1/2-13 X 1.50Qty. (2)1111

Tighten all 1/2 GR5 fasteners with torque wrench to 75 Lb.-Ft. (102 N*M)

Note: check hitch frequently, making sure all fasteners and ball are properly tightened.  If hitch is removed, plug all holes in trunk pan or other body panels to 
prevent entry of water and exhaust fumes.  A hitch or ball which has been damaged should be removed and replaced.  Observe safety precautions when working 
beneath a vehicle and wear eye protection.  Do not cut access or attachment holes with a torch.

This product complies with safety specifications and requirements for connecting devices and towing systems of the state of New York, V.E.S.C. Regulation V-5 
and SAE J684.

Fastener Kit: 01130-545

Do Not Exceed Lower of Towing Vehicle 

Manufacturer’s Rating or

350 (159 Kg)3500 (1589 Kg)
Weight Carrying

Ball Mount

500 (227 Kg)5000 (2270 Kg)Weight Distributing

Max Tongue

WT (LB)

Max Gross

Trailer WT (LB)
Hitch type

Wiring Access Location: SUV1, SUV2

Form: F205 Rev A  5-6-05

Tighten all M12 CL 8.8 fasteners with torque wrench to 68 Lb.-Ft. (92 N*M)

License plate 

bracket

Frame

Bracket to 

be removed

Exhaust 

isolator

Figure 1.

Compress bend if 

additional exhaust 

clearance is required

Exhaust

isolator

Detail “B”

Detail “A”

Bumper 

bracket

Frame

Side 

bracket

1
2

3
4

5

6

3

7

9

9
8

�43


